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Master of Arts (Economics) 1st Semester
1128

CONTEMPORARY ISSUES IN INDIAN ECONOMY—I
(In all Mediums)

Paper—MAECO-102

Time Allowed: Three Hours] [Maximum Marks : 80
Note :— Answer five questions in all. Q. No. 1 is compulsory. Select

at least one question from each Unit.

1. Short answer questions. Attempt any ten parts.

(i) Occupational structure of India during pre-reforms era.

(ii) Recent status of Service Sector in Indian Economy,

(iii) Rationale for second generation reforms,

(iv) Two major reforms in India's external sector,

(v) Impact of reforms on employment.

(vi) Major Findings of Report of Expert Group on Estimation

of Poverty, 2009

(vii) Reforms and Inter-State disparities in India.

(viii)Skill India initiative and unemployment.

(ix) Causes of deceleration in Indian agriculture during reforms

period.

(x) Recent initiatives for Indian Agriculture.
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(xi) Two strengths and weaknesses of Indian Agriculture,

(xii) Main features of India's Industrial Sector.

(xiii)Impact of FDI on Indian Industrial Sector.

(xiv) Enlist India's major growing industries with their brief
status.

(xv) Why Indian Industry could not act as engine of growth ?
20

UNIT—I

2. What were the strengths and weaknesses of India's present
economic structure ? Explain in detail. 15

3. Why were economic reforms introduced in India in 1991 ?
Critically appraise impact of economic reforms on key sectors
of Indian Economy. 15

UNIT—II

4. State major trends of labour force growth and occupational
structure in India ? What are the major challenges emerging
out of India's current occupational structure ? 15

5. What are the shortcomings of government's initiative taken for
eradication of poverty and unemployment in India ? What needs
to be done in this regard as solution of current status of poverty
and unemployment ? 15

UNIT—HI

6. "Indian agriculture experienced quite uneven growth pattern
since independence." Give your agreement/disagreement to the
statement with appropriate empirical evidences/examples.

15

7. Present detailed scenario of food security in India. What are
the problems and policy options pertaining to India's food
security. 15
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UNIT— IV

Describe and compare India's Industrial Policy Resolutions of

1956 and 1991. What were the rationales for implementing

those during respective periods ? 15

Enlist various reforms implemented in Indian Industrial Sector.

Also highlight their positive and negative impact on India's

Industrial Structure. 15
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